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play/e Problem Solving: Rows

1. There are 4 trees in one row. , ’ ? ?

How many rows of trees did John plant if he planted 8 trees in total?

trees =+ trees per row = rows

2. Twenty-five chairs are placed in rows of 5 chairs each.

AAAAR

How many rows of chairs are there?

chairs + chairs per row = rows

3. 12 learners line up in 3 rows of equal length.

N

How learners are in each row?

learner = rows = learners per row
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4. Forty chairs are placed in 4 rows of equal length.

Row 1

Row 2

Row 3

Row 4

How many chairs are there in each row?

chairs + rows = chairs per row



